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QUESTION 1

Which are the two ways in which Milestones differ from Agents? (Choose two.)

A. Milestones may be made up of one or more Agents.

B. Milestones monitor for a condition to occur, whereas Agents only start and stop based on a time-based schedule.

C. Milestones may be both "reactive" (for example, they monitor for a condition to occur) and "proactive" (for example,
they can initiate before, at, or a prescribed number of times after a condition occurs).

D. Agents monitor for a condition to occur, whereas Monitors only start and stop based on a time-based schedule.
E. Agents may be made up of one or more Milestones.

Correct Answer: AC

QUESTION 2

Given the information:
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Screening Field Parameter

Service Preference Configuration: RESTRICTED PARTY SCREEN

Data Version ID

Q &o
Data Source
CUSTOMS INFO Q, &0
lNatch Engine
Dice
Threshold
0.500
Exclude Words
Inc, company, ltd
Agency Codea
Q &c

Screening Field Parameter

RPLS

1
&

| Top | | Save |

Which two options are correct for Service Preference configuration? (Choose two.)

A. Exclude Words is used to specify words to exclude when ONLY "Dice" Match Engine is used.
B. At the most sixty-four words can be specified in Exclude Words.

C. It is not mandatory to specify Agency Code.

D. If the Data Version ID is not specified, then the system will throw an error during screening that Data Version ID
needs to be specified.

E. If the Data Version ID is not specified and if there is a Restricted Parties List with a Data Version with the "Current”
flag set, it will be used for screening.

Correct Answer: BE
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QUESTION 3

Which one of the following is the correct procedure for setting up and assigning a Screen Set ID to a User?
A. Create a Screen Set ID and assign it to Domain.

B. Always unassign existing menu and create a screen Set ID, assign it to User.

C. Create a Screen set ID, assign it to Menu Manager and assign it to User.

D. Create a Screen Set ID and assign it to User.

Correct Answer: C

QUESTION 4

Identify the incorrect option pertaining to TiHi.

A. This configuration captures the number of layers of boxes/cartons that can be stacked on the pallet.
B. This is configured in Item Setup.

C. This configuration captures the number of boxes/cartons stored on a layer.

D. This configuration will impact mixed pallet functionality.

Correct Answer: A

QUESTION 5
Which three statements are true when configuring allocation rules for OTM Freight Payment? (Choose three.)

A. For a service provider, one can assign one allocation rule based on the planned cost and another based on the
actual cost.

B. OTM uses the first allocation rule that applies.

C. The allocation rules in the profile can be sequenced in the allocation rule profile.
D. One cannot use the same rule in more than one allocation rule profile.

E. Allocation rules need to be set up before the allocation rule profiles.

Correct Answer: ABE
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